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Forgiveness is written by it, like Kodshim — 2OWTPS 72 2900 DD

Overview

The °R2> ' 027 stated that we derive the nX17 T0°R by an 1917 723y, since the term
7192 is used by 191w 72w as it is used by 2°w7p, and just like WP are 2 MOX
TRIT2 (there is a 712°yn 211 if one is 7371 from 2°w7p), similarly there is an 7R3 MOX
by 191w 793y, Our NM©OIN resolves a contradiction between our X3 and elsewhere.

- 192 259 59 ANINA PANION DIVTPY INIYS THYY 993 ¢xs osnan 2N
For it is written by 7917 793y that ®Xw> 92p» 293, the same word of 779> which
is written by w7 (many times®) and it is forbidden to derive benefit from

aww7p, for there is a 7999% 211 if one has 7837 from °w7p, similarly there is also an MR
TR17 by 791 79,

n1voIN asks:
= NHMAP XN Qv ‘oY 199V Ny 72993 (x,) 91 MINI22T NN

It is astounding! For in ninsa> noon we derive the %17 MOX by 7917w 793 from
the 7109 of aw 129w (and they shall behead it there); implying that its burial (of

the 1917y 7123v) should be there. It should be buried where it is beheaded and no one may
use it for any purpose. Why then does the &) say here that we derive the X7 M0°R by 723
1917Y from the word 193?!

modIN answers:
= 99598 111997 90 UM

And one can say that both 0?05 are necessary (795 and ow W) -
= 505WTP 115 NNINA ANMON DNN NPT NN NN N995 DIVN INY

For if we would derive it solely from 7993, I could have thought that it is 790K

nx372 only while the 7917y 7%y is alive, just like 2°@7p, where one may not use the

1297 (for his personal needs), while it is alive -
= OV 199 THIVEN 19NY SNNMINMD HWYIY 11D NN NIY INNY YaN

' oo ouow 's.

2 If one has nx37 from w7pn (he uses it for himself) he is liable to pay back w7pn for his nx17 (or the loss he caused
w7pP7) plus an additional fourth (fifth), and he is required to bring a N2>y QWX 127p. See 10-10,77 XIPN.

3 See 17,87 ,19 ,0 2°P100 T RPN

47,80 (o°vow) oMaT.

> We are deriving the X317 110°X by ¥"v from 2°w7p so the X137 MK should be similar to the R37 MoK of DWTP.

¢ Once the mxn was done by a 127p, it was slaughtered and the 07 was sprinkled on the namn, the meat of the J27p
(except for an 77W) may be eaten (either by 0°175 or 2°?RW”). [See R,°p "2 where it states WM¥A TWYW 727 72 PR
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However, after it is beheaded one would assume that the ¥"v is permitted 78173,

since its 71%» was done. Therefore we need the aw 197 to teach us that it is 7RI 770X
(even) after the 79°7y (for InM2P RN QW) -
= ANINA NNION NOIY INNRD XPIT RININ MN TIND OV 199191 N

And if we would derive the nX37 70X by ¥"v only from 2w 129y, I may have

assumed that the ¥"V is 71X272 790K only after the 7939y -
= 7P995 TPYV8N N XY ©NN YN

But not while the "V is alive, therefore we need the derivation from 7992 that it is
X172 770K when it is alive (and also when it is dead).

NN offers an alternate solution:
= NN RWAYT 9Py KD N2 29N 1999 NN 9INPT NNT 99D W) ") ON

Or one may also say; that this which the X773 states here; ‘7982 is written by it

like 2sw7p’, that is not the main @97 from where we derive the X317 M0°X by ¥"y -
= (%, 97 2PIINT NP P93 19299RT ININNK NYITY TP908N NNT

For the nwn7 of w75 1712 2°n5 7792 is necessary, for another w97 (not for MR

7R37), as the Xna states in the first P25 of 1297 noon -
= 1205¢47H5 N2 2N N995 NI Y RPOY NN NI 99) 10X NIV NNDIT

‘Perhaps this ¥"v is a 12°1?! And if you will argue that what difference is it to

us that she 1s a 7197, this is not so since %P 72 172902 782’ where by WP it
certainly cannot be a 79°70.!3 This concludes the citation from 7117 'on, proving that we cannot
derive X317 MR by ¥"v from 7795 -

$ OV %9999 %N XINT NYIT 9Py NIN

Rather we must conclude that the main 7227 here that ¥"V is X172 770X is from
aw DHY.

Summary

12 1oy In.] Similarly here too once the M was done it should be 78372 NN,

" According to this answer of 010 an 71917 793y is 0% MR D10 770K,

8 See ‘Thinking it over’ # 1.

9 The X7ma there is discussing from where do we know that we follow the majority. One explanation is that we
derive it from 17917V 7193¥, as NMOOIN continues to cite from that X na.

10 Perhaps this 723y which is being designated is a 7190 (and therefore seemingly unfit to be an 7917w 7723v), the fact
that we are not concerned proves that we follow the majority of animals which are not 719°0.

' The Xm3 there is asking perhaps a 790 is fit to be an ¥"v.

12 We see from that X3 that 2°w7p> 72 2°n> 7793 teaches us that the ¥"v cannot be a 179°v; therefore we cannot use
that 71w17 to teach us the nX17 Mo°R. See ‘Thinking it over’ # 2.

13 A 129 needs to be a 0an and not have a 0 (and it needs to be eaten).

14 According to this answer of Mmoo it would seem that an ¥"y may not be °°mn 7R372 70K, See the following X3
(by y71¥n %) and K10 7"7 '0I1n (at the bottom of this TnYy).
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We either derive X177 M0°X by ¥"V from both 0°»109; from 71795 (by 2*°11) and 197
aw (for anm anRY), or we derive it only from ow 1w (for 7795 is needed to
exclude a 790 by ¥"y).

Thinking it over
1. If the 7wn7 of W72 172 2°n2 77793 is not the WAT TP°Y as NMHOIN maintains in the

second answer;'®> why indeed did the X3 mention it here?!'

2. M1oIN maintains that since 131 7793 is needed to teach us the 719°Y MOXR by ¥'"y,
it cannot also teach us the X317 MR by v¥"v.!7 However the 7w7 of 7793 is not
because it is an extra word (where we can only derive one 7217 from it), but rather
we are comparing ¥"V to 2°w7p, so what prevents us from comparing them in many
ways (including 719°7v and 7837 M0K)?!18

15 See footnote # 8.

16 See mwn nbm.

17 See footnote # 12.

18 See 71N wNon XK # 38.
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